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14 11] 6670 8 HFFE(2) 3.34 3.78 3.78 3.78
Y Y Ut BEh +1.8 +1.1 +1.9 +1.1
15 18 7110 K& #ZE(2) 3.73  x 3.75 3.75
ttng 19t Elpdas +2.4 +0.5 +0.5
160 10 7421 8 HE(2) X 3.714 3.317 3.74
| Yih 77 $ARE h - +0.2 +1.4  +0.2
17 6 7349 [EHE D= (2) 3.61 3.66 3.73 3.73
7Ung H1 el -0.2 -1.1 +0.4 +0. 4
18 19 6727 ®=ih Bz (3) 3.67 3.37 3.53 3.67
45 F Ut =i +1.8 +0.8 +1.2 +1.8
19 3 7347 HiR L AHH(2) 3.56 X 3.44  3.56
47 I3 FEl -2.2 -1.7 -2.2
20 7 8709 2 BF (2) X 3.00 3.35 3.35
| ¥t h43 535 -1.0 +1.1  +1.1
21 1 7353 % H FERH(2) X 3.12 X 3.12
¥4 Iyn HEJl +0. 0 +0.0
22 9 8703k E& (2) X X 3. 11 3.11
$hy 4% ITpulss) +1.4  +1.4
23 8 6715 MR ZE(2) 2.73 2.87 2.98 2.98
JavF Y3 = -0.8 +0.4 +0.8 +0.8
2 7036 &R Z(2) DNS
AVE 19 H/A
12 6837 &k #9 =(2) DNS
VIV RS BE4
26 1901 MN& /& (2) DNS
WY a5 A N =Y
15 712800 BEKR & 3) DNS
% Z Bt
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[45118

[12:30]

RBE
RB
IB6L B o - K # L -1- 2= -3 LR "E
1 2 9031 &+ (1) 10.19  x X 10. 19
VL3 714 MAK +3.0 +3.0
11901 & /1N (2) DNS
3 3195 BAITS




XF ( ) EX:
R B
B4 B8 o - K £ g4 -1- | -2- | -3- 5% =3

1 4 9037 /h#k 3% (2) '

i %\owé%m) Ak 11.85 11.34 12.16 12.16
25 H

i ,ﬁ-’p% %??:(2) A K 10.59 10.76 10.26 10.76
E [] l‘/‘:l:
g . 9.67 10.08 9.77 10.08

Eew MZL)

KETE 5=




#; R B [48118__ [11:30]
| |

82 (1. 000kg)

RBs
W SR N - K % FEL T e O
13 9035 #m & @) |
) 9],71; é?% . - 23.31 24.46 x| 24.46
INE )
il 249912; 21%(2) 1 2098 x| 21.74 21.74
e e — 16.76 18.65 19.40 19. 40
4 2000 BB B Q) T M
o % $4 Yo




¥

LR B [AB11H ] 9:40]
‘
nyv-$ (4. 000kg)
R
Mg St Fon - E % R4 - - 3 BB BE
13 90337+ HEME@4) |
) i 72%{24:%?%(3) WA K 35.38 36.27 36.49 36.49
I F)
MR8 . 30.86 x = x 30.86
BTH @
w5 1) KETE 5 o I R




#? R B
P L) 2 (600g)
R
JE sz | Et 42 Fun - K % B4 _1- 9 3 53 {E%
1 4 2499 #2:2 % (2) |
H 55656
B b ga . A SIS X | 24.60 x | 24.60
FH B
- M;’;*;( | AEEgs 17.75 19.88 x | 19.88
4 2 INE =% (3
193 313 = x | 16.65 x | 16.65




hR T

R B [4F10B  [10:30]
100mH (0. 762-8. Om)
R
[ 1#4] & +1.4 [ 248] JE&E 0.5
JE L-v No. 4 R4 B wE I V- No. K 4 R4 &k EE
1 6 TMIFKR EIQ) 18.19 1 4 6705 B #ZEQ) 18. 89
TiE VI KA Y347 121 =4heh
2 5 7087 HiH W I(F(2) 18.77 2 5 T143/3F HHRZE(3) 19.39
g AR & LN L NA I B
3 4 1344 FW EFEQ) 18.78 3 7 7420 B+ FE(2) 19. 89
| THE ik )| , L7 A ghREh
4 8 7151 &k ®HE Q) 18.83 4 2 6636 BEE Bt Q) 20. 21
iy 47+ W 7V 97 4Fh Zfdtsh
5 2 8700 fnpgE =& (3) 19.93 5 3 T13B21FKR nYh(2) 21.25
by v Wi es THE 1Y eIl
6 7 6712ED %18 (2) 20. 26 6 6 6708 iFZE £51t(3) 21.36
79N 9% =4 7049 Yuh =4k
7 3 8757 Hlu EE(2) 20.54 7 8 6576 82 1+ (2 22.00
pAdkes EEth 95 EEET
[ 341 JE&E +1.1
JE L-v No. K 4 B4 iR EE
1 5 7167 2H %EK(2) 19.08
h35 744 W3k
2 4 6700 K#m JOFE (3) 19. 71
1710tk =§Bh
3 3 6506 FIU £=(3) 22.10
AT F13 ERILES
7 7166 K¥f ZEF (2)
43 nbh 3 DQ (R168-6)
2| 6562 FE #AE (3)
the 744 EEERG DNS
6 6441 1L £ EHH Q)
N EED b DNS




thigg 7
100mH (0. 762-8. Om)

R A LL—XR
iEfzZ] No. E £ R & i 2 BE (E) EZE [ # [EAL
1| TA3[EA B:I3) KA S 18.19 (+1.4) 11 1
2| 1087 |&5M W T (2) N 18.77 (+1.4) T 2
3| 7344|FEH B (3) )1 h 18.78 (+1.4) 1| 3
NG ETI0) L 18.83 (+1.4) 1| 4
5| 6705(E:E wE Q) = 4k 18.89 (-0.5) 2 | 1
6] 7167|2H =X () ML 19.08 (+1.1) 3 1
7] 71433 HEBE () 2 Bk o 19.39 (=0.5) 2| 2
8] 6700 K& JnFE (3) = $ ek 19. 71 (+1.1) 3| 2
9] TA20|EF BZ () $hE 19.89 (-0.5) 2 | 3
10| _8700[miE =% (3) (L50ep 19.93 (+1.4) 1] 5
11]_6636|@EE &1t (3) 2t 20.21 (=0.5) 2| 4
12| 67120 %A (2) =$h 20.26 (+1.4) 1] 6
13] 8757l EE (2) Eem 20.54 (+1.4) 11 7
14] 1352|5X YL (@ LS 21.25 (=0.5) 2| 5
15| 6708[EZE 257 (3) = #h 21.36 (-0.5) 21 6
16] 6576/82 £ % (2 BaRT 22.00 (0. 5) 2 | 7
17]_ 6506/l £2 (3) ERILBES 22.10 (+1.1) 3] 3
7166 &K &5 (2) 111534 (1. 1)[DQ 3
6562|ch A _#8E (3) BeaT (+1.1)[DNS 3
6441l £ 5 H 3) L (+1.1)[DNS 3




hRF

[(REE [4F108  [13:30]
Fai e (2. 721kg)
R
IERL & o - K 4 R4 -1- -2 3= BB H#E
114 6647 ﬁi{?*’fbﬁ@) . 8.46 9.02 9.08 9.08
R .
b9 291 153 e ' ' ' '
4. 9 7406%3&5:;\%%(2) _— 5.85 6.40 6.9 6.49
5 6 742273»;]!; fﬂ;f/L;aE@) . 6.19 6.03 6.45 6.45
° 7340221%5%??(3) $2)1] e 591 6.15 6.10 6.15
74 7085 ;I;?%E'll‘;ﬁ@ - 5.74 6.09 5.07 6.09
8. 10 6728.5‘%2%7%5{;&(3) - 5.09 553 598 508
MR N R
W — . . . .
n 2 703312\%51] ifﬁ(z) - x | 573 553 573
12. 8 7341%3’; ﬁfﬂ%@) . 5.00 541 442 541
B meim
WH 9 19 B ' ' ' '




thR T

o o R B [45108 _ [10:30]
4
Y* 4" )yhan-(300g)
R
IE4L| 5| Ton - K £ FEES -1- | -2- | -3- 5 £
11 7286 S;ﬁfgm@) P 17.91 18.96 17.02 18.96
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